B - Hila >

511216~40 I1SOtR A

TG
WGN06 | BR[| UEA
© %=

o EEETHRARBVEEHEND, RIEE, BiEHIEE
o BIEETHEIERMHER, AR SEAsSRERE;

o IIARFABBENENE, BES, FEM;

o LRSS SAPRERA.

A+{TR2
AB AC+1712 MB
DA MA_| _AD, AD
PA 2-P PA|_ @K

M -
GA \ BTETIZET
EA AF +1712 KA
MptnE: $—0/
sz | A |aB|Ac|AD|AF| B | c | D |DA E EA| F |FA| G |[GA| H | K | KA M MA|lMB| P |PA
16 [114] 38 |60 [10 | 9121 | 12| 6] 22| Mex1.0 [ 16| 10| 5 | 22| 6 | 5| 6| 9| M16x15|16| 16| M5 | 5
20 |137] 40 108 |27 8 | 28 | M8x1.25 | 20 | 12 6 12
29| 7 F— 8| 12 | M22x1.5 [—— 21
25 [141 16 | 110(30 | 16 | 10 6 8
44 | 76 —— 30 [M10x1.25| 22 — Rc1/8 | 8
32 [147 IREC 12 17 2] 8 1010 | M24x20 |14
40 |149| 46 16.5 41.5] 20 | 16 | 32 |[M12x1.25| 24 7 41| 9 |14 12 M30x2.0
Bs o BMEFFR | jmnr, m 5 FEREAGE |(BEWED| TIERE (FRAEEEE
= s 712 we | ERR | mEmy | emwn | BEED Y o e
16 M5
25 50 75
20 100 125 150 0 |ROFIEDR) =5
WGNO06 25 175 200 225 (Z40umLA £ | 0.1~1.0MPa| 1.5MPa | 0~60 | 30~800
2 250 300 350 2 |G(EEMx| Rel/8 | mmigye
400 450 500
40
HER16TEE M,

e mxm |BEHR|
& o _FB T 1752 wm | B

d®> | @ 50 75 0  JREpIER)
WGNDS 20 | 100125150 <2 |oE@m)x

WGN0O6 — 16 —25—2—R

ERERITH



	页 6

